


The PSAC Tamil Examination paper 2021/2022 consisted of 9 questions. The Tamil assessment was
focussed on the following areas:

1. Reading Comprehension (40%)
2. WIriting (30%)
3. Grammar and Vocabulary (30%)

It was noticed that the percentage of pass for Tamil is 74.76 %.

Question 1A:

This question was based on the testing of candidates’ knowledge of common vocabulary. The task was
related to the labelling of pictures which consists of 5 marks. Monkey, ear, mug, window, cupboard are
the words that have to be given in the specific language. The high achievers and the average candidates
have been able to give the correct answers and in certain cases though they were able to identify the
words mentally, they wrote with spelling mistakes. It has been noted that the low achievers had
difficulties in writing the words correctly and some candidates didn’t attempt this task at all. Some of
them rather than writing the words in Tamil, have given the English transliteration which is not
acceptable. Others have written the words in Kreol Morisien or in English. Some students instead of

writing the word ear (&rg1, GFail) in Tamil, have written the word body in Tamil (2_._sv). In certain

instances, instead of writing the word monkey in Tamil, the word elephant was written. Though the
word was well written, the candidate didn’t score any marks as this is not the correct answer. This is a
scoring task, therefore, much emphasis should be laid on this task as well. Basic vocabulary should be
taken into consideration again and again by the students. Some errors committed by candidates are as
follows:

Correct Wrong Words  in | Transliterated | Words in | Wrong word

word spelling Creole version English

BIEE aflorEi, zako Guomesrd), monkey Y g
@D LDGBT Lpee
allevrsd @
& (HSBLD

BT, & IT 6T & ) 6V ear 2 L6V, W%

GFaf & 68T, (LPLD

&HT6V, 6UTUI

G6uswer GRILLLY cup WGHT

Capefi

FESTEITEV FEBITCWT6V, afesor@Lm

F63T6IT6V

ojsvLomif] <evomi], QB TemeVEHTL
O[6VTLOT
9j60lomif]
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Question 1B:

This question has as objective to assess reading comprehension ability at a basic level. This was done
through a task which requires candidates to match a sentence to the corresponding picture. This task
consists of 5 marks. Most of the candidates have been able to attempt this task by scoring the maximum
marks. Some candidates have not completed this question; only four answers were given. Candidates
should be trained to understand the whole meaning of sentences. It appears that the candidates were

confused with greir @eflasmresr and wresnrteuigsst srHmTyCuir® allewarwrT®FSmriser. It
has been noted that many candidates have given the answers without proper understanding of the actions
in the illustrations. There were confusions with the name of the boy (@Lwresr) and the word brother

(s1o09). Furthermore, there was an elephant in the illustration and here too they did not give the correct

answer. It appears that this task is becoming incredibly challenging and the candidates must be trained
properly in reading and understanding of words. Drilling tasks based on this model must be given to
students frequently so that they are acquainted with this type of task.

Question 2A:

Knowledge and recognition of proper grammatical structures were tested through multiple-choice items
which consist of 10 marks. Many candidates were not able to make the difference in the case markers
and some candidates have made some mistakes due to lack of proper reading, proper guidance, proper
grasp of the grammatical items. Grammatical items such as subject agreement, numerals, case markers,
infinite verb, question noun, verbal participle and adverb were tested in the paper and all of them are
found in the Grades 3 to 6 Textbooks. So constant explanation, drilling work, different types of exercises
to test the same component, remedial work and revision would be helpful to the candidates. The
candidates should be guided to give the correct answer as far as possible, and they should have a mastery
in grammar as this is a vital component while learning a language. In the National Curriculum
Framework, it is mentioned that it is lifelong learning, so the candidates need to know the basics of
grammar so as to do well in secondary schools.

Find below some ideas which could be adopted to address the grammatical errors that are being
committed by candidates:

- Basic explanation.

- Use words that are familiar to the candidates.

- Give as many examples as possible.

- Give them a list which they can keep with them and which they can consult whenever they are
having difficulties.

- Prepare flash cards, teaching aids, technological tools.

- Prepare activities in which all the students are involved in and see to it that learning has taken
place.

- Consolidate what was learned in class through assessment.

- Do remedial work.

- Give proper feedback and incentive to the candidates.

- Beafacilitator and give proper guidance.

- Pay attention to the learning difficulties and find instant solutions.

- Use inductive and deductive methods.



Question 2B:

This question was related to vocabulary in context, through multiple - choice items. It consists of 5
marks. Many candidates have not been able to attempt this question and it reflects that much emphasis
has not been put on context-based vocabulary. It is noted that the vocabulary task has been in the forms
of nouns and verbs with case markers added to them. Many candidates didn’t attempt number 3 of this
task. It seems that they haven’t understood the meaning of the sentence and they have given chair as
answer instead of table. For example:

S wenenerennnnns & Carewt(h sur! preir 2 1 &mHGeuedr.
9. CuengFemuw ®). Guerreweu
9. SlewL FF. BTHSHTedlemu

Pictures can be shown to candidates to facilitate recognition of same in terms of vocabulary as well as
the case markers added to it so that to derive the meaning of the sentence. For example:

BTedT 6767 LUl HF BTEWSVLT ..uvvnnenn. Cumr®&IEmedr.
9. IereyCasredlev ®).  ewuuiled
Q). MBI GL L uilsv F. &% a6V

The candidates should be trained to derive the meaning of the sentence while reading it so that they can
choose the correct answer. For example:

Q)eTem M & BT HeWTLILITIUI (9) (BB CMEIT. HBHEVTV, (LPETLITHD «oneneennnnnn. :
9.  RB®GeusT ®).  grmiECsusit
9.  urii@uesr . 15 &I Geusst

LDTLDGY)|6WL_UI 6U6SITLY. LIGDIPWIG|. DT 63(1h L,ﬁm GUEIITLY 6DUT .eovvnrannnnnn. .

9.  SUTHIGeUTT ®). Guaeuri
9. O Fieumri . Lig Lo
Question 3:

This question was on reading comprehension at an intermediate level and the candidates had to locate
information from the comprehension passage which was based on a letter format. This question consists
of 10 marks and 9 questions were given. We are happy to note that many candidates scored the
maximum marks in this question. But still the candidates should be trained to identify basic information
in this task which is very much scoring. The students should also be encouraged to attempt all the
questions. This question is to test the reading skill which most of the candidates lack. Therefore, many
reading books should be provided to the candidates so that they can read extensively; thus developing
many important relevant skills. The candidates should understand the flow of the letter and the
information that follows in sequence. It has been noted that the answers for certain questions were



irrelevant as the meaning of the sentences was not well grasped by the candidates especially for the
following:

BTeir  ‘HedleTT SHLMeewruilsd o I sTHHICMeT. @)Hs @)L Ib eTerdhE Wsey LiligdE@ib.
JORTHTMHTEL HILITUI QP BLPSHTET HBTLD, QYevTTeD, HLTuiled Gleuulled Flsmild STisng).
Gleuuilev 6Tedrd@HLI LNgHHTH). BTETEHTMID HT6dT HL_6016V 13 Gewedr.
Correct answers were not given for the following questions due to lack of understanding of the text:

- &GS 6768 FILMTi& @ GUmesTrer?

- T GUBTOEGS FILTil Ll d@n?

- SIUT STeVBlewsV 6TLILIG (&) (HbHIMGI?

- ThBS Cadl GUpST LisTermld @ 6uheuTsir?

It has been noted that some answers were incomplete and only part of the answers were given. The
candidates subsequently didn’t score marks and, in some instances, it was noted that where only part
answers were given, these were wrongly written. For example:

uma eummiss)Gesredr
‘G’ gD

It was noted that the text was in present tense and the questions were in past tense so the answers were
mostly written in present tense by the candidates. It has also been noted that there were lots of spelling
mistakes while copying the answers from the text. For example:

st/ st/ sT@/eTHMI

ugestrmrid/ uglestrmid/ ussflesrTmmin/ LFeTmTID

Questions 4A and 4B :

Candidates’ ability in reading comprehension was assessed through their understanding of an extended
passage which was a descriptive one. A range of reading skills were assessed in this question - locating
explicit information, guessing the meaning of unfamiliar words from the context, recognizing
relationships between persons, actions and events, following the sequence of events, inference,
identifying central themes and ideas and providing a personal response to the text. This will be done
through multiple choice questions 4A which was on 5 marks and open-ended questions, 4B which were
on 10 marks. Many candidates have tried to do Question 4 A but have not attempted Question 4B.
Though candidates have tried to attempt this task, however, many discrepancies have been noted in the
answers of the candidates for Question 4 A. They are as follows:

- encircling of two answers;
unable to give the correct answer;
no encircling at all;
answer was written in the blank space instead of encircling;

- the question was not well understood by the candidates.
This type of exercise should be done on a frequent basis so that the students are familiar and at ease
with this type of descriptive reading comprehension. Basic questions should be given to them leading
to complex ones. The candidates should be guided on how to answer questions. The sequential trend in
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any passage should be explained to the students so that they can use this technique while reading and
answering questions.

The following has been noted that for question 4B:

- many candidates didn’t attempt this task;

- they haven’t understood the sequence of the text and irrelevant answers were given;
errors have been noted while writing the answers;

many candidates have attempted the last question.

Question 5A:

This question was based on re-arranging jumbled word to form proper syntax. It consists of 4 marks.
Most of the candidates have tried to give the correct sentences but still some candidates did not do well
in this task which is basic in nature. Many types of sentence structures should be taught to the candidates
starting with simple, complex, and compound. Regular reading of these types of sentences will help the
students to grasp the structure of sentences. Moreover, emphasis should be laid on order of words while
explaining comprehension passage or while writing sentence structures. This type of exercise should be
given frequently to the students so that they can practice. This would also help them to write sentences
and essays correctly. Errors noted are as follows:

- [BTBIGST BeTmTE CHHMmI 9} lqSerTLd

- gn yewer CuenadGosv Glymigenwd Friidli L g
- Qrmligewws Yewer ey FriiiliL g GoenFGiosv
- GuenaGsv Glrmiigenwd Lyemer erm! Friifli L g

Question 5B:

This question required candidates to write sentences. Knowledge of syntax was assessed through a
sentence completion task. It consists of 6 marks. Many candidates attempted to complete the sentences,
but it was observed that there have been a lot of grammatical and spelling mistakes in the sentences. It
has also been noted that candidates don’t know how to use link words. Though link words had been
given in the sentences, they added other link words again and the meaning of the sentences that were
written was not good. Therefore, grammatical elements must be reinforced through practice tasks. Order
of words in a sentence should be taught to the students. Additional reading must be done by the
candidates. Some examples of sentences with mistakes are as follows:

QUTEWTET GHUewaTsnill sT(HSS. ...

- u FrodlSpri.

- slEEs Oar@ddnrer.

- preT ume @igA@meir.

- Qosspgl.

- Ung geuamis@ls Gursmmesr.

- RO eTeT QUM @@ Cur GBS DS.



[BTeW6ITds @ 6T6dT LIDHSBTT, |H6uTT6V. ..

- QuDGpr@H pregid sGFVT GUTEUTiTSH6T.
- SO Ljlg Ul Q6L UTHIGS DI

- BT ueefd @Gl Gurseailsensv.

- pmeT p(h Lifa HewL_d @ L.

- ereor GHMLP UTLITEIT.

- Uppgprer.

- @@ of®Fbi @) mESIDTer.

srenevuilev ybwm eThs LUIn&, Sjeur,...

- @ 56T S1] FewLoesTTii.

- uerefl&@l surdpmir.

- @ Feweuwrer Gy Friilgesrrer.
- 9|6uIT 6T6dT LOMLOEHTLO (B) (&S MT6dT.

- FTSTSSDTIT.



Some good answers are as follows:

QUTERTET GHUeweaTsnill sT(HSS. ...

- urdlsawentil GsET @lgsdpTer.
- sbLEES OsTOESADTET.

- et walpFFwmil @) maHEmredt.
- QsTERSSETI ALl UTiEdnTeT.

- 9Blev gewrewtic GUTBFDTeir.
[BTen6Tds @ 6T6dT LIDHSBTET; |H6vTT6V. ..

- 6T SLILIT QI HLPSHTET LIVSTILD MTHBIGHIB M.
- IHWS sTewTd @ p(h Lflar eumsigaSlpmir.
- Bmedt eTedT LML 1g afL" R EGLI CLrGeusit.
- ST Teardh@GL Liev UflFser G&THdSSmmir.
- [BTedT 6T6dT GBH LSS 65T CUIBISTIY S CLTGaussT.
- urlig s uMg eursIGeumi.
srensvuiley b eThs L@, Jjeur,. ..
- BIb U6 CHUISSHTIT.
- FewLWe) HMDEGL CUTSDTIr.
- af L Geuswev GFWISIDTIT.
- FTewev 2 _ewrey FrillLmi.
- Geflwev gemmuilsy Gumit Gefl&Epmi.

- UoF YD GL CUTl SL_6eneT 6uenTEI&HAS D TIT.

Question 6:

Reading with understanding was assessed through a Cloze Text and candidates had to fill in the blanks
with the given words. This task, which is vocabulary based, consists of 10 marks. The candidates had
difficulty in inserting the correct words as the understanding of the text was poor in certain cases. So,
the proper words had not been used. The average candidates have tried to do the question correctly
whereas the low achievers have used the same words in different places and some of them haven’t filled
in the blank spaces. Some have given the same answer in two places as illustrated below:

- urg Bleraller GeafldFupd B)HbbDSS5I
- jeusit GHTL_L GFl6vL aureanrsFls) allemerwim(baesmmeir.
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- Fleuer erIGLITIPSID OB TeweVESETL Fulley aurarsglsv.
In some cases there were possible answers and the following was written by the candidates:

- eTevGevmpid Crihsl @)rey o ewreweud FriilllLmidssir.

6TeVBVT(HLD 9JsiTMI @)Tey 2 ewreweaud FriiLill L riaelr.

@LICILT gl jeueiT CHTL L SFl6v 05l 1pFFCwir(h ellenpemwr®dmresr.

@LICILIT gl jaueT CHTL L $Fl6v spiiiaurs alflewerwm®aS)mTedt.

Question 7A:

This question was based on assessing candidates’ knowledge of grammar and spelling in context.
Sentences containing grammatical and spelling mistakes were set and candidates had to correct these
mistakes. 5 marks were given for this task. The high achievers have completed this task with full marks
whereas in other cases it shows that the candidates are not confident enough with this type of task. Some
mistakes which have been noted are as follows:

uLb&eir, LpdssT, FrUUIGLer, FrUll L CL 6T, FTUSCSH60T, sTHSemeT

Question 7B:

This question was on assessing knowledge and application of word transformation rules in the language.
Sentences were set and candidates had to complete the gaps by carrying out the correct transformation
of the given words. This task was on 5 marks. Every year this type of exercise appears in the examination
paper but still candidates are not acquainted with this type of exercise. Candidates do not know how to
use grammar appropriately. Note that grammar is the main element in any language. The candidates
must be trained how to use grammar appropriately. Answers for items 2 and 5 were not well written;
different variations were given, and they were not good answers. The adjectival participle and the
adverbial participle should be well explained to the candidates regularly either through inductive method
or deductive method. The same can be consolidated through the use of teaching aids. Note the following
mistakes which might be avoided through a lot of drilling exercises and remedial actions:

S 13605, SLDEG, L 195G, ST B, GluL_1gsH6r

Question 8:

This question was set to assess candidates’ ability to use simple cohesive devices or conjunctions to
write sentences. The task was based on pictures and given words. The different sentences must be
linked together with the given words to make up a coherent short story and it consists of 10 marks.
Students have written good sentences in certain cases, thus showing their good command of the
language. However, others have written the sentences wrongly with spelling and grammatical mistakes.
Candidates must be trained to write grammatically correct sentences and use appropriate vocabulary.
Some sentences that were wrongly written are as follows:

B@ BreT- Qg
(5 BTer 66T LILIT CHTL L SFl60 6p(h O\FIg BlySHSHTIT.
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s2(h BIeT ClBeueit sp(h GFiy BL (HSIMTedT.

2(H BIeT, HYUILT CHTHF6L ClFI95H6iT (3)(HHF6ITM6UT.

s2(H Brer, CFedlwiest CHTL L G5l6V (1 ClFLy Blewestd T 6dT.
§3(h [HTET 66t LOTLD GlFIq S Tedr.

@ Brem QLT Al Ll wrib CFg F)HeSImTi.

§2(1h [HTEIT LOTLOGIT 69 (1 GIFLq.

§2(h BTET sp(f Fmieuedt GlLwT SpLHeT OlFIy @) (HdHSIMTEdT.

BTTGHTMILD - HevuTew! T 2arH M)

BTeTCHTMID YLILT ClFIgem I SHevuTesvt T 20T MBI MF).
BTETCHTMID SLILIT G| HEWTEw! T 2MHMIH I
BTTEHTMID SjeUST SHevoTewt T 2arMH M) () (Hd>5 M T6dT.
BTeT@HTMID 676 G\FLg FHevsTewt T 20rmHm) sl Emedr.
BrTGSTID Sevstenti 2arHyi R Ly GBS 6.
BTeTGHTMILD SHeVTeRw! T 28T MHM) .

BTeTGHTMID YLILIT FHewTewt T 20rHm)| @) (HHS M.
O|OUGHT §3(1h BTTEHTMILD §(h H6WTEWT T 2THM)).

Hov Y T (H%HEHdGHL LIm@ - rsslev LiLpmIseir

Fev YT HHEHSGL DG @6 Ul 055l LI LIPBISST B)BbSSI-
Flov Y MT(HSEh G L1 LM @& ILPHTET LTSSV LIPBISHST @) (HdHaHIMGI.
Flov Y WT(HSEHd G L1 LID G Ijbdb LOTHSH6V LISV LILPBISET (3) (e e mevt.
Hev Y T(H%EHSGHL LD @ WwrdHHled LPBISsT 6lsTHEMSI.

Flov YOS EH% G LIDG b LTSSV LIPHIsH6T.

Flov YT EHSHGHL LIN@ Sbhd Cluflil S(psHesT wrHHle0 LILPBIFT.

flev Cprmisefley — wrssleit CLosd ermi

Flov CrrBiIsafley e IdHFler Gosv sTmISIMG).

Flov CrBrBIsafley LOTewTouT 6T LTdSledT GLO6D LILPHBIGEDET 6TMISIMTT56iT.
Flev CrurBiIsafley BHTeir rdgleir Goed emiFEmTib.

Fev CHrBIsafley a6t THFleT GLosL T ) (hdh s MT6dT.

(1 SILILIT 6TET jeU6ST (T GUIT LTS HleT H1p 6T6dT CHTEWL 5B T6VSHl60
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CaHETewLSBTVSHBl6V — LT SHSBl6T &1p

CHTEML_SHHTVSHP6V §3(h LT SS6T H1p &) (HdHSBIMG).

CHTEWML_SHHTVSHF6V DT HSHeT S1p LipBIG6T FTULI(HS M.

CHTWML_SHHTVSHF6V DT HSHeT HLp LIPBISET FTLILNGIFS D TiTH6iT.

CHTWL_SHHTVSHFV HLPHET &HIDLSD6V LBPFF T OTSSI6T 1P 2 &M (Hds DT T 6.
Um@ prmisst wrssler £1p CHrewL_d HTevdHsGmTib.

CHTEWL_SHHTVSHS6V LTS SHl6r HLP.

§2(h BTET HOLOTOYLD Y LILITEYLD CHTEWL_SHTVSHI6V DT SHB6IT & Lp.

CHTWL_SHHTVSHF6V LTSS 6T S 3)HEHS M.

Some good sentences noted are as follows:

R(H BTiT- ClFIY

§2(h [BTEIT 6T6dT HLILIT (1 CFIg BHSIDTIT.

R BT OILT R C1FIg FOSDTI.

§2(H BIeT, HLLT CHTL L SF6V sp(h G\FIg BHSIMTIT.

sp(h BT, LiLT h FPlw GFyeww CleuslGw LTisSlmmi.

sp(h BT6iT, GeusVedT §p(h OIFLY 6uTHIE S M TedT.

§2(h BIT6IT, 6T60T LILIT 63(h DLPHTET GIFLg LDEwWTEOl6L eW6UBBI MTIT.
BTTGSTMILD - HevoTewt i 2arH M)

BTETCHTMID SLILIT SHEdTew! T 2rHMIFH M TIT.

BTTCHTMID jeuUT ClFLY & &d HEUTeN! T 2aTHM|&MT6dT.

BTeTCGsTMID LT GlFigulled Hewrent T 20rHmlesrmi.

BTeTGHTMILD HEVEV HLILIT SH6EST6wT T 2TMH MBI MITIT.

Hov Y T (H%HEHdGHL LIm@ - rsslev LiLpmIseir

Flov B WT(HSEhd G L1 LD @G §p(h LT SSH6V LILBIS6T () (5565 M 6vT.

Flov Y T(HSEHS G L1 LIME, sp(h LTSSledT GLosd LISV LILBISGET () (Hd 6T m6vT.
Fev YT HHEHSGL DG YbB THHIEV LIS LIPERISET §)[ds]sTDeT.

Flov S MT(H%Eh G L1 LIM @, LOTHHleD LISV FemeTedT LoMLDLILPBIGS6T &) (1hH%60T.
flev Crrmisafley — wrHsleir Gosv ermi

Fev Crrmisafley GlFedlwet HLi WrsFleiT Gosv 71 LIBIGEmTL LIPGS M T6dT.
Flov CBrBIsafley H6T &6 IHFler GLosL 7] Flev LipmIGemaTLT L& E M Tedr.
Flev CrrBiseaflsy wrdhdler Gosd eymismredr.

Flev CrrBisaflsy iLITallsT &6 LT dhLleT GLosV 67MISIMTedT.
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CaHETewLSBTVSHBl6V — LT SHSBl6T &1p

CHTEWL_SHHTVSHF6V LFGGler SLp FTULIBHS DTS,

CHTEML_SHHTVSHF6V DT HSH6T SLp LOTLOEYILD LOTERTOUTSHOHLD 2 L & T (HH M T SH6iT.
CHTeWL_HHTVSHFL &ML LTSHSleT &1p FTULRSIDTT6T.
CHTML_SHHTVSHP6V 6T SH6T LOTSS6T H1p @) (HdHEBIDTT 6.

Question 9:

The ability to write a coherent piece of continuous prose was assessed in this question. This was done
through a guided composition (canvas). It carries 10 marks. The high achievers and average candidates
have worked well. Some of them have not written as per the instruction given and had written a long
essay with irrelevant description at the beginning of the composition as was done traditionally. This
practice should not be entertained. Many candidates have not written this exercise and it shows that they
were not encouraged at class level to do this type of task.

This paper was a scoring one as it caters for mixed abilities but it has been noted that relevant drilling
exercises should be given to candidates so that they get more practice in writing the language. The low
achievers have tried to work out this paper but still much encouragement and guidance to score the
required passing marks should be given to them. Candidates did not know how to write basic words that
were taught to them in lower Grades especially in Question 1A though this is being highlighted since
long. They had not been able to use the vocabulary and relevant grammatical items in the construction
of sentences. Some candidates’ writings were illegible and some of them were not able to recognize the
difference in the alphabets. The students must be trained to be self-dependent in any examination setting
and be confident in writing the language appropriately as stipulated in the National Curriculum
Framework. Another point to be noted is that much importance is being given to lifelong learning. It
has also been noted that the trend is continuing with the low achievers who are not making enough effort
to work out the paper. In certain cases, only the multiple - choice question was answered and the open
- ended questions were not attempted. It has also been observed that some candidates make the effort to
write in the paper but still they lack the required competence to score good grades. At the level of the
class, much consideration should be given to all the candidates so that they learn the language properly.
They will thus feel secure and this would build a trust in them. Revision work and remedial work should
be maintained at school level, thereby encouraging the continuity of the Tamil language in the School
Curriculum.

Samples of Essay PSAC 2021/ 2022

&_[Henr 1

@) stm elwimpdElpsnLo. B)& sp(h LisTafl BT6lT. @& MWeT ‘& $&5 STUISIDGI. STHMI
‘&6 &6 afFEIMGI. suiey ChIdbaleD LOTEWToUTHET LIV uend allewerwimL (Hdse6ir
allewamuIT(HFH MTTSHET. HTEYILD 6T6 HEWTLISY(LD LlHaYLD STHLTU () (HHHCmTiD.
S| STT6V BT HIGH6T 6UEGHLILI6Y BIewLpasIEMTLD. FlleblreiTm) BT HBISHST 63(h H(HL6W6dTLI
UTT&sIEmTD. FHHLer GlLwi Geusvsir. eusit LBaydD GBI L 6u6dr. Heuedr
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uGLILEGHL CUTeTTer. eusT ewusafled(hbghl LT SlHBHSIDTesr. Gmrid
&PlHHTY Brer Fflweny ewpdlGmeir. 2 1 Ceor oy Aflwir Geusvsnid @,
I SHSImri. Geusvsir allibd] ailbLl]l HPSIMTedr. Heusst LedTevflli GHLslmTedr.
o FAflwi Cousven)d @ YMleyewr ClETHESIIMTT. (9)F1 @(H LLMES (LPLYWTS HT6IT.

This is a quite developed story with accurate syntax and accurate vocabulary. But at the beginning of
the essay unnecessary points have been added which are not directly related to the topic. It lacks fluency
and is organized by giving only a flow of the events without much elaboration.

&_HenT 2

(3)63TM) L|SBTHILPEWLD. HTEVLD By (HEWLOWTUI ) (hHBGI. DG 62(F LieTaf] BT6lT. 61637 &
UG LidG|. BTeT L0l&H6 b HsvsvalsT. liley CBIHPHleL H(HL 6T 6p(HeueT 61 LiLilsL
BISDLPHSTEIT. (66T 6TEW [HEWTLICHTIT 6®LIUI6D LIWISHewSbd &l (HlgeuTTer. Fmlg)
ChréHgIs@GHL LUID@ BTID 6760 HTLTSEHLD Heuswearil LUTTEGEHTD. 2 L Geor
[FTEILD 6TET BHEWTLITHEHLD Yeuswarll LiligHGHTiDb. HewL Fulley Hl(pLedT 6TedT
BETL)ISHGHL — LSTHNHS  OlsTHHHTeT.  Bevwrlier  Lseyld  GamuLomiil

B mESIDTeT. @G MBS (LPLGUITSH §3( BHT6IT.

The essay was started directly with the points given but there is a lack of development. The sentence
structures were simple and no complexity shown. This is only a basic story.

sL_(Hewr 3

@)svrm) GleusiraflsFlipewio. @& sp(m LsTafl BHTeT. suTedlewey GLOGTEWLOUITEITS]. U1

CBIdHalev Hl(HL 63T 6p(HouedT su@GLiLiley BIswLPFSIMT6T. LM @ j6uet su@LiLilest HH6y
epasipreir. Adlgl Crrédssb@Gl LIN@ BTeD 6763 HEWILITHEHLD HeUH6ITLI
UTT&SDTTSET. HHOTTeL BrhiseT auGLiysGl GumetTid. bs ChIdslev
BTBIGET FH(HLEWETLI LITTEHSIEMTLID. JUT 6T6T [HEOTLIEHT &H6dT LIGTLIEHLI
CapIlEIMmesrT. CHILd HLHEHEHTLDEV BHTHISH6T B eVIUVEHSHISHGHL CUTHEmTiD. 9 miIGsh
BTBIG6ET HweVewld YFAMwHeHFH bsd 6lsL L 6FUIF o msEmTLD. HewevewLo
Al obhs lFugSlewwsds CHLanGUTH euT STeusvT YWPSHSIDTi. FAplg
ChrdHaIs@HL UnE s &Teusvi UsTafleww oL Smri. Ln@ eui S (HLenesr
BTOUVTHHMWS IJWPHEHIL Guraslpri. Hser Uneg sSewsvsww gy Fflwir
6ThRISEHSGL @ Uflax CarhSHSnri. sSewLFHulled HTBIGeT LESIPIFF Wil
®)(HHHEMTLD.

This sample is good. At the first instance, the candidate started directly with the elaboration of the essay
using a range of vocabulary as well as different sentence structures. There was consistency. Command
of the language and coherence were noted.
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s_(hewr 4

ST elwrpddlipenio. Gleuulls BOTMTH HTlbHHIHI. HTEYILD 6T6I [HEUTLIT S EIHLD
UGLILSGHL UHSHHPlV allewerwiriy Garmid. spuiey GCBrHHIe0 FH(HL 6T 6@ (Heu6dT
ou@GLILIN6D BIHLPHHTET. HeUST &H(HLIL FLEWL WD HTEVFL WL WD |6udflhS T 6dT.
Sjeuedt 16T Y FAMwfledr LiewTLIenL S (HLlqedTTEdT. BHTEWILD 6T6T  [HEWTLIT S (EHLD
S|UMSTLI LITTSHSTTHET. HTHIGET HeweVewio ) Fiflwihdh@dHF ClFTeVGBeTTiD. 9j6uir
STOUDTHEHSHGHF Fmpleorri. APlg CHrsHs5@L UnEg Sreusviser usTefldsd,
SUHSTIH6T. euimHsT FHLISEH TOSSTTHET. sTer QYFAMNwT LTI LIEHW
SlewL_S55!. HFMW(HLD HTEUDTHEHLD [bTHIFHEHE G HSTM] dn MWleOTT T H6T.

This is a well-developed essay with accurate but simple vocabulary. The mistakes are noticeable. There
are mostly simple sentences, and it is an organized piece of writing but lack the appropriate fluency.

sL_(hewr 5

@etm yseT Hipso. @& P LTS BT6T. HTOL SHOLWTL &) HSHmS).
STHYI 'GEH Gen sty ofFamg. @iie] CHrH3leD HTEYID 6T6I HevoTLIT & EMLD
HLefled sreoupg almarur@ACHTD. HeQramm @G HHLST QEHOUST
UGN BISHLPEDTEIT. QU LIS LIS EHLD BIISHEHLD 6T(5)dsE DT, SaUST (h
QsriuLl] oenfldnmet. Bregib s pFNwenr GlFTVECmmd. Fsv CrIBISEaTl6V,
LisiTeif] g)L_aSled Lisy aueiTiq &6l @) (HdETMT. SemL_Auled &(HL6T R WHeUsHT. .. ...

This sample was well started with some grammatical mistakes and the candidate has not completed
same. The beginning was good; giving description of what was stolen and the description of the robber
as well as the sequence of the events, but it was not a complete essay. Completion of essay, time
management should be explained to the candidates so that they can score the maximum marks.

&L_(Hewr 6

®)a1 @ Sms FSlpsww. Gleuulley HTLSIDGI. lley CHIdHFlev FHl(HL 65T 6p(H6u6dT
uGLILIL BIHSIMTET. HeUST LIV [{TVEHET  &Hl(HLG6TTEIT. [HTEWILD  6T6dT
BERTLITSHEBLD Sjeuewesrt LTTGHEMTD. Brer Gurs YFAMeww ClaFmeirGevredr.
Osuir Casruwmit @) HbSmri. yFAfleww HHLGT LITIEHSDTEIT. HBHATT6L j6ui
HSBIBEIMTT. F(HL_6ST LTSS pHSIMTeT. Brmissr FAfEHEnmib.
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In this essay, attempt has been made to start with the development of the given points but gradually
there is no elaboration as such and the piece of writing shows a lack of vocabulary, mastery of the
language and meaningless approach.

sL_(hewr 7

Uiy GCrIsspled SHlHLET PHousdT euGLLIlD BHIHPSMTET. HeUST LIGHF|
B(HSIDTEIT. jeu6T HUJLD 2 65T HEWTLITHEHLD eUMETLI LITTSHISDTEIT. Hj6u 6T
bUjlD 2 63T HEWTLITHEHLD FeMLOWI) MMM WF FGSLD OFUISDTTSH6T. YLILITELD

I|LTeYLld HdbsTud SLoLilujd SewL_Fluiley Liev Gl igemwF HL_HI6TM6OT.

This sample is below expectation. Some given words were written but there is no relevancy and
coherence in the essay. The piece of writing is meaningless and does not reflect proficiency in writing
into the target language.

Dr Uma Allaghery
Chief Examiner - PSAC 2021/2022
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